THRIE4d _systemd _option Effective: Apr. 2021 Supersedes: July 2020

¢ Post (End of rail for payment) Begin bridge anchor secﬂomﬁ General Notes:

. 12"+ at 70°F (F Iidi | )
Detail A o rec °1iding 19p _ _ ! Design Specifications: 2002 AASHTO LFD (17+h Ed.)
‘ Permissible Regular Expansion splice in & First Post on bridge Standard Specifications
-} Splice between posts channel shal | be made No splice plates at fthis fype joint Same as joint opening DIRECTION

for 12'-6" fthrie beam of first post on either < UIRECTIUN
/,f&‘ A sections only (Typ.)A—\ side of the joim+4—\ (Ends of C8x11.5 cap rail) OF TRAFFIC

Guardrail delineators shall be attached to the top of
the quardrail and shall similarly use the delineator
| details of Missouri Standard Plan 617.10s except that
— the delineator body shall be attached to the top of
the cap rail using galvanized anchorage as shown on
‘ Missouri Standard Plan 606.00. Delinegtors on bridges
1 with two—-lane, two-way fraffic shall have
retroreflective sheefing on bofh sides. Guardrail

_———————— —_—

R

o 0 0 DATE PREPARED
delineators will be considered completely covered by

,,,,,,,,,,,,,,,,,,,, the contract unit price for Bridge Guardrail (Thrie 7/21/2021

| 18 - Beam) . ROUTE STATE

| [N * MO

|
1
N n L1 Ll Panel lengths of channel members shall be attached JISTRICT SHEET NG,

N St SESEETRTM -l T +1 Iyt ini £ f + d i
12" Bolts tightened to 12" in. At bridge ends for head to head g?ns%zugézﬁg o g mnimum o our POSTS and d maximum BR *

. N (except at end bents).
snug tight condition Mino) Joint Opening Joint Opening fraffic, guardrail shall be used COUNTY
only and burr fthreads e

at all four corners and for single Al'l bolts. nuts., washers and plates will be *

(Thru 2" opening) (Over 2" opening) g%g??*égmageérgi{ég;rgﬁggdggég considered completely covered by fthe contract unit JOB NO.

C Vers0 oot ELEVATION OF THRIE BEAM RAIL only Unlsss required al The exit. price for Bridge Guardrail (Thrie Beam). ¥

(Vertical) BLOCKOUT-TO-POST CONN. All steel connecting bolts and fasteners for posts CONTRACT 1D-
Wox15 Steel ¢ Two 13/16”@ Holes in and railings and all resin anchor bolts, nuts,

Detail B | B lockout Wex20 post flange and Wox15 washers and plates shal |l be galvanized after PROJECT NO-
erdi \//ﬂ\\ (13%” long) blockout flange and & Two fabrication. Protective coating and material

5/8"% Hex Head Bolts with reguirement of steel railing shall be in accordance

BRIDGE NO-
fwo washers and hex nut 12 Gauge 64" with Sec 1040.

THRIE 4D

Rail posts shall be set perpendicular fto roadway
profile grade. vertically in cross section and
aligned in accordance with Sec 713 except that the
rail posts shall be aligned by the use of

3 x 1 3/4-inch shims such that the post deviates not
more thanm 1/2 inch from frue horizontal alignment
after final adjustment. The shims shall placed
between fthe blockout and the fthrie beam rail. The
thickness of fthe shims shall be determined by the
N contractor and verified by fthe engineer before
ordering material for this work.

THRIE BEAM-TO-BLOCKOUT CONN. Lig b
¢ 13/16” x 2 1/2" Vertical

Slotted Hole in Wex15
blockout flange (1) and

¢t 5/8"@ Carriage Bolt with
one flat washer and hex nut

- 3 x 23" Cut top
Slotted channe |
Holes flush with |

end of

end post—= =),

Asphaltic Concrete
(Match existing)

”

+ Over lay Depth

10

o) 29/32// X 1%”
Sloftted Holes

5
8

(At edge of slab)

DESCRIPTION

6

chip with vertical sides ELEVATION C8x11.5 Cap Rafl At the expansion slots in fthe thrie beam rails and

| vl N~y N _ chanmnels, fthe bolfs shall be tightened and backed off
[ b2 ~—Existing DETAIL A PLAN A-A one—-half furn and the threads shall be burred.
Asphalt
Concrete At the fthrie beam connection fto blockout on wings.,
Deck the bolfs shall be tightened and backed off one-hal+f

/

XTSOW cuts hydroblast or

2

A
L I NlRemove existing
R 6x33x3 Il conc. to this line

Washer

IF A SEAL IS PRESENT ON THIS SHEET IT HAS BEEN ELECTRONICALLY SEALED AND DATED.

T < furn and the threads shall be burred.

! , =2 thru 6’ P ‘

(5)444444; R 9xlexg Haunches Wex20 Post ¢ Two 5/8"@ Carriage Minimum length of thrie beam sections is equal to one
Bear ing . (Typ.) Bolts with flat post space.

DATE

(3 ! “gxgg ?T . For Section C-C Head Bolts with one -
X '® . see Sheet No. __. flat washer and B e

. hex nut
;&%F ’’’’’’’ 45’}j ©  See slab sheet

for rail post

\ . 3 spacing.
\E6X6X% Ede"""""""”: : ? CGD
PART SECTION AT RAIL POST e Head 8ol

(1) Required on one side of web on|y. buf may be provided on both - washers & ¢ Two 5/8"@ Head Hex Bolts Flat washers 3 x 1 3/4 x 3/16-inch minimum shall be
sides of web at the contfractor’'s option. hex nut with two washers and hex nut used at all post bolts between the bolt head and
beam. The washers shall be rectangular in shape with
(2) 4" Bent Plate (Level with qualified special motar. see Sec 704) DETAIL B SECTION B-B an /16 x o neh Slof. or when necessary of auch
design as fto fit the contour of the beam. Rectangular
washers 3 x 1 3/4 x 5/8-inch shall be used between
the blockout and the thrie beam rail.

i X" . 1 e washer and hex nut
! ‘ . T 5/8"® Butt ol | X . A 5/8-inch diameter button-head. oval shoulder bolft
| wo @ Butron 9 E With a minimum 3/8-inch thick hex nut shall be used
4 channels and channel splice plates shall be
fabricated from ASTM A709 Grade 36 steel and

at all slots.
Wex15 Steel Blockout galvanized.

[T
C
0]

o

Thrie

Beqm Thrie beam guardrail on the bridge shall be 12-guage
Ratl steel.

[
0]
o
-
)]
h'd
O
0]
v

Keep clear of

105 WEST CAPITOL
(1-888-275-6636)

JEFFERSON CITY. MO 65102

1-888-ASK-MODOT

CBx11.5
ch@p RGT I |
N 5,8"% Hex -

Head Bol Tt

Posts, cap rail angles, bent plates, blockouts,

(Max. )

COMMISSION

DOT

(3) Cantilever may vary.

(4) POST-TO-BENT PLATE CONNECTION
- ¢ Two 1”@ ASTM F3125 Grade A325 Type 1 Bolfs with 30 L Special drilling of fthe thrie beam may be required af
hardened washers and hex nuts € 2" x 23 5%9*5 (@%gu\or the splices. All drilling details shall be shown on
- @ Two 1 1/16” x 1 1/2” Vertical Slotted Holes in 124" Lap  SPlice) ond 3" x 33" Slofs the shop drawings.
both post flanges (Expansion splice at post) . . .
- ¢ Two 1 1/16"@ Holes in washer plate & bent plate abt. ¢ Fabrication of structural steel shall be in

HIGHWAYS AND TRANSPORTATIDN

MISSOURI

Neutral Axis

- ¢ Three 1”@ ASTM F3125 Grade A325 Type 1 Bol+ts 7\’ DIRECTION Expansion splices in the thrie beam rail shall be
/ -\ | |

— JIRELTIVN . . .
with hex nuts and hardened locking washers HT OF TRAFFIC made atf either the first or second post on either
- ¢ Three 1 1/4"@ Holes in bent plafe and bearing S| 12

plate k2]
- ¢ Three 1 1/8"@ (Min.) Drilled Holes in slab

(6) POST-TO-TIE CONNECTION -~

- ¢ Two 3/4"@ ASTM F3125 Grade A325 Type 1 Bolts ©
with hex nuts and hardened washers

side of the joint and on structure at bridge ends.

P | T accordance with Sec 1080.
(5) BENT PLATE—-TO-DECK CONNECTION 10700700 i \ i |
|
|
|

- CP When the splice is made at the second post, an
\\7 s , Eliminate slot expansion slof shall be provided in the fthrie beam

o
1 \7/32”
:z:)

| or provide rail for connection to the first post to allow for
I button head movement .
I bolt at splices . . o
| between posts In addition to fthe expansion provisions at the
i . . . < | expansion joints, expansion splices in the thrie beam
- & Two 15/16"@ Holes in inside post flange and 1o | rail and the channel shall be provided at other

end plate locations so that fthe maximum length without

(T) TIE-TO-GIRDER CONNECTION SECTION THRU THRIE BEAM RAIL FT T ¢ @2’ x 15" Slofs (Reg. expansion provisions does not exceed 200 feet.

. 29, A
¢ Two Resin Anchor Systems each to include: ! splice) and 2 X 2%
- 7/8"@ (Min.) Drilled Hole in girder or as ‘ Slots (Expansion splice)
recommended by manufacturer
- 1"® Hole in end plate 2" |43
- 3/4"@ ASTM A449 Type 1 Threaded Rod snug
tight and embedded 5 inches in girder 23" L}%”
— Hex Nut and Hardened Locking Washer

"R, |
1917 Typ.) <]

~ mlw

Tolerance

Shim plates 6 x 6 x 1/16—inch may be used beftween fhe
top of the post and the channel member as required
for vertical alignment.

5" | 2" (Regular splice)
L 1, . . Shim plates shall be galvanized after fabrication.
> 27" (Expansion splice)

Contractor shall verify all dimensions in field

THRIE BEAM RAIL SPLICE before ordering materials.
Designed

3 See Missouri Standard Plan 606.00 for details not
Detailed shown.
Checked Note: This drawing is not to scale. Follow dimensions. Sheet No. of

THRIE4d_system4 _optional.dgn 8:06:29 AM 7/21/2021




